
1207cap Marine Beret

Summary
※Note: Like all Japanese patterns, stitch counts given here for foundation chains do not include any chain sts needed 
for turning posts.
 
Beret: Work foundation chain to begin, then work in Tss, increasing and decreasing as indicated in chart & schematic.
 
Finishing: After working last row, cut yarn and thread tail through all remaining stitches. Cinch top of beret shut and 
weave in the yarn tail to secure. Seam side of beret with mattress stitch. Work edging back-and-forth in joined rounds.
 
Abbreviations:
ch = chain
Tss = Tunisian simple stitch
#-#-#-# = rows-stitches-places-times [for evenly spaced decreases across entire span of item]. For example, 1-2-3-4 
               means "every 1 row, decrease 2 stitches in each of 3 places across the row; do this 4 times total." 

Suggested yarn:
• Pierrot Yarns Little Fun [100% cotton; 104 yds/95m per 1.41 oz./40g skein]; color #56 ethnic, 
  2 skeins [70g]
 
Tools/Notions:
• 4.5mm (approx. US G or H) Tunisian crochet hook or or size necessary to achieve gauge
• 3.0mm (approx. US C or D) crochet hook or size necessary to achieve gauge
 
Finished measurements:
• head circumference 52cm/20.47"
• hat depth 19cm/7.48"
 
Gauge (10cm/4" square):
• Tunisian simple stitch (Tss): 18 sts and 16 rows
 
Gauge may vary according to individual crochet style. Change hook size if necessary to achieve gauge. 
Alternatively, rework pattern with your own gauge measurements.
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